BID:

In compliance with the Bid Notice and above Specifications, the Bidder, having familiarized itself with said Bid Notice and Specifications (all of which are made a part hereof) hereby proposes, in compliance with the foregoing, to furnish and deliver to the Greater Lafourche Port Commission with the following or any part thereof, complete as herein specified, which includes all applicable taxes (except sales tax).

BRAND	PART NUMBER	DESCRIPTION	UNITS	UNIT PRICE	TOTAL PRICE
Samsung	QNO-7080R	4mp IR Bullet Network Camera	7	\$398.35	\$2,788.45
Samsung	SNP-6320	2MP 32x PTZ Network Camera	4	\$3,216.26	\$12,865.04
Samsung	SBP-300WM1	Dome camera wall mount	4	\$48.27	\$193.08
Phoenix	2891064	POE 24v Switch	4	\$555.06	\$2,220.24
Air802	PDCPOEVA70AT	90 Watt POE Injector	1	\$187.21	\$187.21
Air802	PDCPOEVA48AF	30 Watt POE	1	\$102.31	\$102.31
Tessco	387095	Ventev-Link UPS 120w 24 v	3	\$3,796.03	\$11,388.09
MK	8G34	Deka Battery 12v 60 amp	6	\$209.15	\$1,254.90
Tessco	372291	Tessco 24vdc surge protector	3	\$209.93	\$629.79

	/ TOTAL BID \$ \$31,62	28
NAME Walter Messa Jr.	SIGNATURE WELLE EMMILE	7
TITLE OF SIGNATORY Chief Opera	ting Officer	ä
FIRM/BIDDER_Datacom, LLC dba B	lackHawk Datacom	
ADDRESS 100 Enterprise Drive		
CITY_Lafayette	STATE LA ZIP 70506	
PHONE 337.593.8700	FAX 337.406.9023	

SPECIFICATIONS AND BID

GREATER LAFOURCHE PORT COMMISSION 16829 EAST MAIN STREET CUT OFF, LA 70345

SPECIFICATIONS:

GLPC Project No. C1809 PORT FOURCHON CCTV GAPS PHASE IV SLIP B CAMERAS AND EQUIPMENT

The Greater Lafourche Port Commission ("GLPC") hereby requests bids for the furnishing and delivery of certain equipment, materials and supplies to be used in accordance with its Port Fourchon CCTV Gaps Phase IV Slip B Cameras and Equipment. It is the intent of the GLPC to award purchases of the equipment, materials and supplies to the lowest price submitted by (i) lowest responsible bidder who has bid according to these Specifications, or (ii) lowest price of the same or equivalent item listed on any known available state purchasing contract, or (iii) lowest price of the same or equivalent item listed on the General Services Administration supply schedules.

Sealed bids will be received by the Greater Lafourche Port Commission at their Office located at 16829 East Main Street, Cut Off, Louisiana 70345 until 2:00 p.m. local time, October 11, 2018, at which time they will be publicly open and read aloud.

Bids received after the above specified time will not be considered.

Bids must be submitted on forms provided by the Greater Lafourche Port Commission. The Request for Bids, including specifications, will be available online at www.centralauctionhouse.com and at the following locations:

Greater Lafourche Port Commission 16829 East Main Street Cut Off, LA 70345 985.632.6701

The Greater Lafourche Port Commission reserves the right to reject any and all bids, waive informalities, and to make awards as the Greater Lafourche Port Commission Board might elect.

GREATER LAFOURCHE PORT COMMISSION Chett C. Chiasson Executive Director

Newspaper and Dates:

DAILY COMET: September 20, September 27, 2018

LAFOURCHE GAZETTE: September 26, October 3, 2018

Wherever the name of a certain brand, make, manufacturer, or definite specification is utilized herein, such is used only to denote the quality standard of product desired and does not restrict bidders to the specific brand, make, manufacturer, or specification named. Such brand, make, manufacturer, or definite specification is used only to set forth and convey the general style, type, character, and quality of product desired, and equivalent products will be acceptable. By executing this Bid, the Bidder acknowledges that the determination as to whether a product is deemed "equivalent" to that specified herein shall be made solely by the GLPC and such determination shall be binding upon Bidder.

INSTRUCTIONS TO BIDDERS

GENERAL INSTRUCTIONS

Sealed bids will be received by the Greater Lafourche Port Commission at their Office located at 16829 East Main Street, Cut Off, Louisiana 70345 until 2:00 p.m. local time, October 11, 2018, at which time they will be publicly open and read aloud.

- A. Carefully review all components of this RFB. Include with your Bids all required forms, completed and signed as necessary. Bids shall be submitted as either a hard or electronic copy. Bids may be submitted as a hard copy either: 1) via hand delivery to Owner at 16829 East Main Street, Cut Off, LA 70345 or: 2) via mail to "Greater Lafourche Port Commission, Attention: Mrs. April Danos, 16829 East Main Street, Cut Off, LA 70345." Each Proposer(s) shall submit only one (1) original and two (2) copies of their Bids, sealed in an opaque envelope, with the following information legibly written or typed on the face of the envelope as depicted below:
 - 1. Name and address of Bidder
 - 2. Name and address of Owner, Attention: Mrs. April Danos
 - 3. "Proposal for Project CCTV Gaps Phase IV Slip B Cameras and Equipment"
- B. If the Bid is mailed, the Bid envelope shall be placed inside a second envelope to prevent premature opening of the Bid,
- C. If the Proposal is submitted via <u>www.centralauctionhouse.com</u>, the Proposal shall be uploaded to <u>www.centralauctionhouse.com</u> in .pdf format.

It is <u>not</u> a requirement that each Bidder submit a bid for each line item material. Bidders are free to select which line item(s) for which they wish to submit a bid.

The successful Bidder(s) will be required to deliver requested equipment, materials or supplies to the GLPC as a single delivery within thirty (30) business days of notice of award. Arrangements must be made with the GLPC within the 30-day delivery period for the GLPC's acceptance of the entire order. Drop-shipping or multiple deliveries to the GLPC are not acceptable.

In the event of a tie, the Bid resulting in the lowest administration expense to the GLPC will be selected.

MATERIAL(S) TO BE DELIVERED AS DIRECTED BY COMMISSION PERSONNEL (All Prices in Figures)

BlackHawk Datacom 100 Enterprise Drive Lafayette, LA 70506 Attn: Mrs. April Danos Proposal for Project – CCTV Gaps Phase IV Slip B Cameras and Equipment